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Types of investments we could
value using Marriott's WACC

There are two requirements that should be satisfied
before using Marriott's WACL to evaluate prospective
investments:
- The investment oppartunity must have the same
systemic risk as Marriott as a whole.
- The Investment must have a similar leverage level
te Marriott as a whole.

Cost of Capital for Marriott as a whole

To find the cost of capital, we use the fallowing
infermation:
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Summoary of Case

Marriott Corporation is made up of three divisions:

1. Lodging
2. Restaurants
3. Contract Services

They are looking for the cost of capital for each of
their divisions.

Marriott Corporation: The Cost of Capital

Third time's the charm...

How would using a single corporation hurd!e

rate affect the company over time?
Az different divisions have different systemic risks and leverage levels,
wsing a single corporation hurdle rate to evaluate imeestment
oppoertunities would be inappropriate. Risk for the whole corporation
wiould be lower than the risk for the single project because risk for the
whole corporation is more diversified,

- If hurdle rate is tao low, more projects will be sccepted.
« If hurdle rate is tao high, fever projects will be accepted.

This could ultimately result in imvestments which are not aligned with
overall objectives
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